
433



434



编号 零件名称 数量 规格 编号 零件名称 数量 规格 编号 零件名称 数量 规格

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

泵体

后盖

调压侧盖

侧盖

调压本盖

泵浦主轴

凸轮环

叶片

配流盘

背托侧盘

活塞

活塞

滑动螺栓

调压主轴

弹簧座

调压弹簧座

调压螺栓

塞头

活塞

1

1

1

1

1

1

1

13

1

1

1

1

1

1

1

1

1

1

1

No.406

M10×1.5P×35L

M10×1.5P

M6×1.0P×20L

3×8

Ø3×8

Ø3×8

Ø

20

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

活塞

活塞

弹簧

幹式轴承

定位销

半圆键

C型扣环

主轴油封

背托环

背托环

O型圈

O型圈

O型圈

O型圈

O型圈

O型圈

O型圈

O型圈

O型圈

1

1

1

2

5

1

1

1

1

1

1

1

1

1

2

1

1

4

1

4 20

No.608

R42

TCV 224211

×

AS 568-0261

AS 568-0234

1A-S85

1A-P14

1A-P5

1A-P20

1A-P22

1A-P6

1A-P14

DAI (JAPAN)
DD1415

39

40

41

42

43

44

45

46

47

48

49

50

51

52

53

54

55

六角螺栓

六角螺栓

六角螺栓

固定螺钉

固定螺钉

固定螺钉

固定螺钉

固定螺钉

塞头

螺帽

螺帽

铭牌

封盖

塞头

O型圈

O型圈

O型圈

1

3

4

4

4

1

1

1

1

1

1

1

1

1

2

1

1

1A-P10

1A-P6

M10×35L

M6×35L

M6×25L

M12×25L

M4×5L

M10×12L

M5×10L

M5×35L

M10×1.0P

M12

M8

435


